

Dr. B. C. Roy College of Pharmacy And Allied Health Sciences Approved by AICTE & PCI and Affiliated to MAKAUT, WB

Campus: Dr. Meghnad Saha Sarani, Bidhannagar, Durgapur-713206, West Bengal, India Land Phone No.- (0343)2532679, E-mail: bcrcp_dgp@yahoo.co.in, Website: www.bcrcp.ac.in

FEE STRUCTURE B.PHARM (2023-2027)

Payment to be made at the time of Admission

				With Hostel		Without Hostel
i)	Admission Fee	(One time)	Rs.	5,000=00	Rs.	5,000=00
ii)	Tuition Fee	(1 st semester)	Rs.	44,000=00	Rs.	44,000=00
iii)	Library Fee	(1st semester)	Rs.	750=00	Rs.	750=00
iv)	Total Caution Money	(Refundable)	Rs.	12,000=00	Rs.	10,000=00
v)	Seat Rent	(1 st semester)	Rs.	9,000=00		
vi)	Mess Charge	(1 st semester)	Rs.	24,000=00		
vii)	Registration Fee	(One time)	Rs.	500=00	Rs.	500=00
viii)	Student Welfare Fund	(1st semester)	Rs.	500=00	Rs.	500=00
ix)	MAKAUT Student Development Fund	(One time)	Rs.	2,200=00	Rs.	2,200=00
x)	Examination Fee of MAKAUT	(1 st semester)	Rs.	1,200=00	Rs.	1,200=00
xi)	Grooming Fees	(One time)	Rs.	20,000=00	Rs.	20,000=00
xii)	Mentoring Book	(One time)	Rs.	500=00	Rs.	500=00
xiii)	Prospectus with Form	(One time)	Rs.	1,000=00	Rs.	1,000=00
xiv)	Dress Kit	(One time)	Rs.	6,350=00	Rs.	6,350=00
			Rs. =	1,27,000=00	Rs. =	92,000=00

[#] The entire above amount of <u>Rs. 1,27,000=00</u> for with hostel and **Rs. 92,000=00** for without hostel has to be paid at the time of admission by Demand Draft favouring "Dr. B. C. Roy College of Pharmacy And Allied Health Sciences, Durgapur" on any RBI registered Bank payable at Durgapur.

Payment to be made at the start of Second Semester and each subsequent Semesters:

	2 nd Sem. Jan'23-June'23	3 rd Sem. July'23-Dec'23	4 th Sem. Jan'24-June'24	5 th Sem. July'24-Dec'24	6 th Sem. Jan'25-June'25	7 th Sem. July'25-Dec'25	8 th Sem. Jan'26-June'26
Tuition Fee	Rs. 44,000=00	Rs. 45,100=00	Rs. 45,100=00	Rs. 46,200=00	Rs. 46,200=00	Rs. 47,300=00	Rs. 47,300=00
Examination Fee	Rs. 1200=00						
Library Fee	Rs. 750=00						
Student Welfare Fund	Rs. 500=00						
Total (Without Hostel)	Rs. 46,450=00	Rs. 47,550=00	Rs. 47,550=00	Rs. 48,650=00	Rs. 48,650=00	Rs. 49,750=00	Rs. 49,750=00
Seat Rent	Rs. 9,000=00						
Mess Charge	Rs. 24,000=00	Rs. 28,800=00	Rs. 24,000=00	Rs. 28,800=00	Rs. 24,000=00	Rs. 28,800=00	Rs. 24,000=00
Total (With Hostel)	Rs. 79,450=00	Rs. 85,350=00	Rs. 80,550=00	Rs. 86,450=00	Rs. 81,650=00	Rs. 87,550=00	Rs. 82,750=00

[#] No extra Training Fee is to be paid alongwith 5th Semester Fee.

Pay Fee by - Demand Draft / Pay Order, Debit / Credit Card Swiping.

Semester Fee paid by the month of January / July
Semester Fee paid by the month of February / August
Semester Fee paid by the month of March / September
Semester Fee paid by the month of April / October
Semester Fee paid by the month of May/ November (before Exam Form Fill-up)

FINE

NO FINE

1,000/2,000/5,000/-

If a particular last date coincides with weekly holiday/Govt. holiday the very next working day will be considered as last date.

Category	Course Fee
1. With Hostel	Rs. 7,10,750/=
2. Without Hostel	Rs. 4,30,350/=

[#] Extra Mess Charge, if paid will be adjusted in the next semester.

[#] Seat Rent, Mess Charge and Other amenities are also subject to change but will remain fixed for a two semester period.

^{**}All payments should be made within Jan/July of the corresponding year; otherwise fine will be imposed as given below:



Dr. B. C. Roy College of Pharmacy And Allied Health Sciences Approved by AICTE & PCI and Affiliated to MAKAUT, WB Campus: Dr. Meghnad Saha Sarani, Bidhannagar, Durgapur-713206, West Bengal, India Land Phone No.- (0343)2532679, E-mail: bcrcp_dgp@yahoo.co.in, Website: www.bcrcp.ac.in

BOYS (DRESS KIT) - CHOICE - A

1. 2. 3. 4.	Skirt (SIYARAM Suiting).2 SetsFull Sleeve Shirt (Duratex Shirting)2 SetsBlazer (Suiting) & Tie and Emblem1 Pc.White Cotton Socks2 Sets	@ Rs. 800/= @ Rs. 700/= @ Rs. 2,700/= @ Rs. 100/=	Rs. Rs. Rs.	1.600=00 1,400=00 2,700=00 200=00
5.	Apron	@ Rs. 450/=	Rs.	450=00 6350=00
	Total -		13.	0550-00
<u>GI</u>	RLS (DRESS KIT) - CHOICE – B			
2.	Skirt (SIYARAM Suiting)	@ Rs. 800/=	Rs.	1.600=00
2.	Full Sleeve Shirt (Duratex Shirting)	@ Rs. 700/=	Rs.	1,400=00
3.	Blazer (Suiting) & Tie and Emblem	@ Rs. 2,700/=	Rs.	2,700=00
4.	White Cotton Socks	@ Rs. 100/=	Rs.	200=00
5.	Apron	@ Rs. 450/=	Rs.	450=00
	Total =		Rs.	6350=00
GIR	RLS (DRESS KIT) - CHOICE - C			
1.	Sal War Suit (Duratex Shirting)	@ Rs. 1,275/=	Rs.	2,550=00
2.	Veil (Dopatta)	@ Rs. 225/=	Rs.	450=00
3.	Blazer (Suiting) & Tie and Emblem	@ Rs. 2,700/=	Rs.	2,700=00
4.	White Cotton Socks	@ Rs. 100/=	Rs.	200=00
5.	Apron	@ Rs. 450/=	Rs.	450=00
	Total =		Rs.	6350=00

^{**} Any matter related to payments should be brought to the notice of the responsible faculty mentor primarily. If not resolved mail to be sent to prasun.moitra@bcrcp.org



Dr. B. C. Roy College of Pharmacy And Allied Health Sciences Approved by AICTE & PCI and Affiliated to MAKAUT, WB

Campus: Dr. Meghnad Saha Sarani, Bidhannagar, Durgapur-713206, West Bengal, India Land Phone No.- (0343)2532679, E-mail: bcrcp_dgp@yahoo.co.in, Website: www.bcrcp.ac.in

FEE STRUCTURE B.PHARM – LATERAL (2023-2026)

Payment to be made at the time of Admission

				With Hostel		Without Hostel
i)	Admission Fee	(One time)	Rs.	5,000=00	Rs.	5,000=00
ii)	Tuition Fee	(1 st semester)	Rs.	45,100=00	Rs.	45,100=00
iii)	Library Fee	(1 st semester)	Rs.	750=00	Rs.	750=00
iv)	Total Caution Money	(Refundable)	Rs.	12,000=00	Rs.	10,000=00
v)	Seat Rent	(1 st semester)	Rs.	9,000=00		
vi)	Mess Charge	(1 st semester)	Rs.	19,200=00		
vii)	Registration Fee	(One time)	Rs.	500=00	Rs.	500=00
viii)	Student Welfare Fund	(3 rd semester)	Rs.	500=00	Rs.	500=00
ix)	MAKAUT Student Development Fund	(One time)	Rs.	1,650=00	Rs.	1,650=00
x)	Examination Charge of MAKAUT	(3 rd semester)	Rs.	1,200=00	Rs.	1,200=00
xi)	Grooming Fees	(One time)	Rs.	15,000=00	Rs.	15,000=00
xii)	Mentoring Book	(One time)	Rs.	500=00	Rs.	500=00
xiii)	Prospectus with Form	(One time)	Rs.	1,000=00	Rs.	1,000=00
xiv)	Dress Kit	(One time)	Rs.	6,350=00	Rs.	6,350=00
			Rs. =	1,17,750=00	Rs. =	87,550=00

[#] The entire above amount of Rs. 1,17,750=00 for with hostel and Rs. 87,550=00 for without hostel has to be paid at the time of admission by Demand Draft favouring "Dr. B. C. Roy College of Pharmacy And Allied Health Sciences, Durgapur" on any RBI registered Bank payable at Durgapur.

Payment to be made at the start of Fourth Semester and each subsequent Semester:

	4th Sem.	5th Sem.	6th Sem.	7th Sem.	8th Sem.
	Jan'23-June'23	July'23-Dec'23	Jan'24-June'24	July'24-Dec'24	Jan'25-June'25
Tuition Fee	Rs. 45,100=00	Rs. 46,200=00	Rs. 46,200=00	Rs. 47,300=00	Rs. 47,300=00
Examination Fee	Rs. 1200=00				
Library Fee	Rs. 750=00				
Student Welfare Fund	Rs. 500=00				
Total (Without Hostel)	Rs. 47,550=00	Rs. 48,650=00	Rs. 48,650=00	Rs. 49,750=00	Rs. 49,750=00
Seat Rent	Rs. 9,000=00				
Mess Charge	Rs. 24,000=00	Rs. 28,800=00	Rs. 24,000=00	Rs. 28,800=00	Rs. 24,000=00
Total (With Hostel)	Rs. 80,550=00	Rs. 86,450=00	Rs. 81,650=00	Rs. 87,550=00	Rs. 82,750=00

[#] No extra Training Fee is to be paid alongwith 5th Semester Fee.

Pay Fee by - Demand Draft / Pay Order, Debit / Credit Card Swiping.

**All payments should be made within Jan/July of the corresponding year, otherwise fine will imposed as given below:

FINE

Semester Fee paid by the month of January / July = NO FINE
Semester Fee paid by the month of February / August = 500/Semester Fee paid by the month of March / September = 1,000/Semester Fee paid by the month of April / October = 3,000/Semester Fee paid by the month of May / November (before Exam Form Fill-up) = 5,000/-

If a particular last date coincides with weekly holiday/Govt. holiday the very next working day will be considered as last date.

	Category	Course Fee
Ī	1. With Hostel	Rs. 5,36,700/=
Γ	2. Without Hostel	Rs. 3,31,900/=

[#] Extra Mess Charge, if paid will be adjusted in the next semester.

[#] Seat Rent, Mess Charge and Other amenities are also subject to change but will remain fixed for a two semester period.



Dr. B. C. Roy College of Pharmacy And Allied Health Sciences Approved by AICTE & PCI and Affiliated to MAKAUT, WB Campus: Dr. Meghnad Saha Sarani, Bidhannagar, Durgapur-713206, West Bengal, India Land Phone No.- (0343)2532679, E-mail: bcrcp_dgp@yahoo.co.in, Website: www.bcrcp.ac.in

BOYS (DRESS KIT) - CHOICE - A

1.	Skirt (SIYARAM Suiting)	Sets	@ Rs.	800/=	Rs.	1.600=00
2.	Full Sleeve Shirt (Duratex Shirting)	2 Sets	@ Rs.	700/=	Rs.	1,400=00
3.	Blazer (Suiting) & Tie and Emblem	Pc.	@ Rs.	2,700/=	Rs.	2,700=00
4.	White Cotton Socks	2 Sets.	@ Rs.	100/=	Rs.	200=00
5.	Apron	Pc.	@ Rs.	450/=	Rs.	450=00
		Total =			Rs.	6350=00
<u>GI</u>	RLS (DRESS KIT) - CHOICE – B					
2.	Skirt (SIYARAM Suiting)	Sets	@ Rs.	800/=	Rs.	1.600=00
2.	Full Sleeve Shirt (Duratex Shirting)	2 Sets	@ Rs.	700/=	Rs.	1,400=00
3.	Blazer (Suiting) & Tie and Emblem	Pc.	@ Rs.	2,700/=	Rs.	2,700=00
4.	White Cotton Socks	2 Sets.	@ Rs.	100/=	Rs.	200=00
5.	Apron1	Pc.	@ Rs.	450/=	Rs.	450=00
		Total =			Rs.	6350=00
GIR	RLS (DRESS KIT) - CHOICE – C	_				
1.	Sal War Suit (Duratex Shirting)	2 Sets	@ Rs.	1,275/=	Rs.	2,550=00
2.	Veil (Dopatta)2	2 Sets.	@ Rs.	225/=	Rs.	450=00
3.	Blazer (Suiting) & Tie and Emblem	Pc.	@ Rs.	2,700/=	Rs.	2,700=00
4.	White Cotton Socks	2 Sets.	@ Rs.	100/=	Rs.	200=00
5.	Apron1	Pc	@ Rs.	450/=	Rs.	450=00
		Total			Rs.	6350=00

^{**} Any matter related to payments should be brought to the notice of the responsible faculty mentor primarily. If not resolved mail to be sent to prasun.moitra@bcrcp.org



Dr. B. C. Roy College of Pharmacy And Allied Health Sciences Approved by AICTE & PCI and Affiliated to MAKAUT, WB

Campus: Dr. Meghnad Saha Sarani, Bidhannagar, Durgapur-713206, West Bengal, India Land Phone No.- (0343)2532679, E-mail: bcrcp_dgp@yahoo.co.in, Website: www.bcrcp.ac.in

FEE STRUCTURE M.PHARM (2023-2025)

Payment to be made at the time of Admission

				With Hostel		Without Hostel
i)	Admission Fee	(One time)	Rs.	5,000=00	Rs.	5,000=00
ii)	Tuition Fee	(1st semester)	Rs.	85,000=00	Rs.	85,000=00
iii)	Library Fee	(1st semester)	Rs.	1,000=00	Rs.	1,000=00
iv)	Total Caution Money	(Refundable)	Rs.	7,000=00	Rs.	5,000=00
v)	Seat Rent	(1st semester)	Rs.	9,000=00		
vi)	Mess Charge	(1st semester)	Rs.	24,000=00		
vii)	Registration Fee	(One time)	Rs.	500=00	Rs.	500=00
viii)	Student Welfare Fund	(1 st semester)	Rs.	1,000=00	Rs.	1,000=00
ix)	MAKAUT Student Development Fund	(One time)	Rs.	1,100=00	Rs.	1,100=00
x)	Examination Charge of MAKAUT	(1st semester)	Rs.	1,200=00	Rs.	1,200=00
xi)	Grooming Fees	(One time)	Rs.	10,000=00	Rs.	10,000=00
xii)	Prospectus with Form	(One time)	Rs.	1,000=00	Rs.	1,000=00
			Rs. =	1,45,800=00	Rs. =	1,10,800=00

[#] The entire above amount for M.Pharm) of Rs. 1,45,800=00 for with hostel and Rs. 1,10,800=00 for without hostel has to be paid at the time of admission by Demand Draft favouring "Dr. B. C. Roy College of Pharmacy And Allied Health Sciences, Durgapur" on any RBI registered Bank payable at Durgapur.

Payment to be made at the start of Second Semester and each subsequent Semester:

	2nd Sem. Jan'23-June'23		
Tuition Fee	Rs. 85,000=00	Rs. 85,000=00	Rs. 85,000=00
Examination Fee	Rs. 1,200=00	Rs. 1,200=00	Rs. 1,200=00
Library Fee	Rs. 1,000=00	Rs. 1,000=00	Rs. 1,000=00
Student Welfare Fund	Rs. 1,000=00	Rs. 1,000=00	Rs. 1,000=00
Total (Without Hostel)	Rs. 88,200=00	Rs. 88,200=00	Rs. 88,200=00
Seat Rent	Rs. 9,000=00	Rs. 9,000=00	Rs. 9,000=00
Mess Charge	Rs. 24,000=00	Rs. 28,800=00	Rs. 24,000=00
TOTAL (With Hostel)	Rs. 1,21,200=00	Rs. 1,26,000=00	Rs. 1,21,200=00

[#] Extra Mess Charge, if paid will be adjusted in the next semester.

Pay Fee by - Demand Draft / Pay Order, Debit / Credit Card Swiping.

FINE

Semester Fee paid by the month of January / July = NO FINE
Semester Fee paid by the month of February / August = 500/Semester Fee paid by the month of March / September = 1,000/Semester Fee paid by the month of April / October = 3,000/Semester Fee paid by the month of May/ November (before Exam Form Fill-up) = 5,000/-

If a particular last date coincides with weekly holiday/Govt. holiday the very next working day will be considered as last date.

Category	Course Fee
1. With Hostel	Rs. 5,14,200/=
2. Without Hostel	Rs. 3,75,400/=

** Rs. 3000=00 per month scholarship will be awarded to all admitted M. Pharm students (upto 22 months)

[#] Seat Rent, Mess Charge and Other amenities are also subject to change but will remain fixed for a two semester period.

^{**}All payments should be made within Jan/July of the corresponding year; otherwise fine will be imposed as given below:

^{**} Any matter related to payments should be brought to the notice of the responsible faculty mentor primarily. If not resolved mail to be sent to prasun.moitra@bcrcp.org



Dr. B. C. Roy College of Pharmacy And Allied Health Sciences Approved by AICTE & PCI and Affiliated to WBSCT&VE&SD

Campus: Dr. Meghnad Saha Sarani, Bidhannagar, Durgapur-713206, West Bengal, India Land Phone No.- (0343)2532679, E-mail: bcrcp_dgp@yahoo.co.in, Website: www.bcrcp.ac.in

FEE STRUCTURE D.PHARM (2023-2025) (Admission Through Counselling)

Payment to be made at the time of Admission

				With Hostel		Without Hostel
i)	Admission Fee	(One time)	Rs.	5,000=00	Rs.	5,000=00
ii)	Tuition Fee	(1 st semester)	Rs.	9,000=00	Rs.	9,000=00
iii)	Development Fee	(1 st semester)	Rs.	10,000=00	Rs.	10,000=00
iv)	Library Fee	(1 st semester)	Rs.	750=00	Rs.	750=00
v)	Total Caution Money	(Refundable)	Rs.	7,000=00	Rs.	5,000=00
vi)	Seat Rent	(1 st semester)	Rs.	9,000=00		
vii)	Mess Charge	(1 st semester)	Rs.	24,000=00		
viii)	Professional Development Fee	(1 st semester)	Rs.	8,000=00	Rs.	8,000=00
ix)	Student Welfare fund	(1 st semester)	Rs.	500=00	Rs.	500=00
x)	Laboratory Fee	(1 st semester)	Rs.	9,500=00	Rs.	9,500=00
xi)	Prospectus with Form	(One time)	Rs.	1,000=00	Rs.	1,000=00
xii)	Dress Kit	(One time)	Rs.	6,350=00	Rs.	6,350=00
			Rs. =	90,100=00	Rs. =	55,100=00

[#] The entire above amount of **Rs. 90,100=00** for with hostel and **Rs. 55,100=00** for without hostel has to be paid at the time of admission by Demand Draft favouring "Dr. B. C. Roy College of Pharmacy And Allied Health Sciences, Durgapur" on RBI registered Bank payable at Durgapur.

Payment to be made at the start of Second Semester and each subsequent Semester:

	2 nd Sem.	3 rd Sem.	4 th Sem. Jan'25-June'25	
	Jan'24-June'24	July'24-Dec'24		
Tuition Fee	Rs. 9,000=00	Rs. 9,000=00	Rs. 9,000=00	
Development Fee	Rs. 10,000=00	Rs. 10,000=00	Rs. 10,000=00	
Professional Development Fee	Rs. 8,000=00	Rs. 8,000=00	Rs. 8,000=00	
Library Fee	Rs. 750=00	Rs. 750=00	Rs. 750=00	
Student Welfare Fund	Rs. 500=00	Rs. 500=00	Rs. 500=00	
Laboratory Fee	Rs. 9,500=00	Rs. 9,500=00	Rs. 9,500=00	
Total (Without Hostel)	Rs. 37,750=00	Rs. 37,750=00	Rs. 37,750=00	
Seat Rent	Rs. 9,000=00	Rs. 9,000=00	Rs. 9,000=00	
Mess Charge	Rs. 24,000=00	Rs. 28,800=00	Rs. 24,000=00	
TOTAL (With Hostel)	Rs. 70,750=00	Rs. 75,550=00	Rs. 70,750=00	

[#] Extra Mess Charge, if paid will be adjusted in the next semester.

Pay Fee by - Demand Draft / Pay Order, Debit / Credit Card Swiping.

**All payments should be made within Jan/July of the corresponding year; otherwise fine will be imposed as given below:

Semester Fee paid by the month of January / July
Semester Fee paid by the month of February / August
Semester Fee paid by the month of March / September
Semester Fee paid by the month of April / October
Semester Fee paid by the month of May/ November (before Exam Form Fill-up)

FINE

NO FINE

1,000/2,000/5,000/-

If a particular last date coincides with weekly holiday/Govt. holiday the very next working day will be considered as last date.

Category	Course Fee		
1. With Hostel	Rs. 3,07,150/=		
2. Without Hostel	Rs. 1,68,350/=		

[#] Seat Rent, Mess Charge and Other amenities are also subject to change but will remain fixed for a two semester period.



Dr. B. C. Roy College of Pharmacy And Allied Health Sciences Approved by AICTE & PCI and Affiliated to WBSCT&VE&SD Campus: Dr. Meghnad Saha Sarani, Bidhannagar, Durgapur-713206, West Bengal, India Land Phone No.- (0343)2532679, E-mail: bcrcp_dgp@yahoo.co.in, Website: www.bcrcp.ac.in

BOYS (DRESS KIT) - CHOICE - A

1. Skirt (SIYARAM Suiting)	2 Sets	@ Rs. 800/=	Rs.	1.600=00
2. Full Sleeve Shirt (Duratex Shirting)	2 Sets	@ Rs. 700/=	Rs.	1,400=00
3. Blazer (Suiting) & Tie and Emblem	1 Pc.	@ Rs. 2,700/=	Rs.	2,700=00
4. White Cotton Socks		@ Rs. 100/=	Rs.	200=00
5. Apron	1 Pc.	@ Rs. 450/=	Rs.	450=00
•	Total =		Rs.	6,350=00
				2,000
GIRLS (DRESS KIT) - CHOICE - B				
2. Skirt (SIYARAM Suiting)	2 Sets	@ Rs. 800/=	Rs.	1.600=00
2. Full Sleeve Shirt (Duratex Shirting)	2 Sets	@ Rs. 700/=	Rs.	1,400=00
3. Blazer (Suiting) & Tie and Emblem	1 Pc.	@ Rs. 2,700/=	Rs.	2,700=00
4. White Cotton Socks	2 Sets.	@ Rs. 100/=	Rs.	200=00
5. Apron	1 Pc.	@ Rs. 450/=	Rs.	450=00
	Total =		Rs.	6,350=00
GIRLS (DRESS KIT) - CHOICE - C	•			
1. Sal War Suit (Duratex Shirting)	2 Sets	@ Rs. 1,275/=	Rs.	2,550=00
2. Veil (Dopatta)	2 Sets.	@ Rs. 225/=	Rs.	450=00
3. Blazer (Suiting) & Tie and Emblem	1 Pc.	@ Rs. 2,700/=	Rs.	2,700=00
4. White Cotton Socks	2 Sets.	@ Rs. 100/=	Rs.	200=00
5. Apron	1 Pc	@ Rs. 450/=	Rs.	450=00
	Total =		Rs.	6,350=00

^{**} Any matter related to payments should be brought to the notice of the responsible faculty mentor primarily. If not resolved mail to be sent to prasun.moitra@bcrcp.org